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5-8 Using Similar Indirect measurement is a method of

using proportions to find an unknown
FlgureS length or distance in similar figures.

p.304 3-13-18
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. T . i Find the unknown length in similar figures.
Find the unknown length in similar figures. X
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0S OR Write a proportion using corresponding sides.
% = 173 Substitute lengths of the sides. \2. I O
12 -w =48 -14  Find the cross product. -
12w = 672 Multiply. 24} 7(_
%" = % Divide each side by 12 to isolate the variable.
w = 56 —
QR is 56 centimeters. x, - O

Mar 18-10:45 AM Mar 18-10:45 AM

The inside triangle is similar in shape to the The rectangle on the left is similar in shape to

outside triangle. Find the length of the base of the rectangle on the right. Find the width of
the inside triangle. . the right rectangle. 12 cm

Let x = the base of the inside triangle. i
g 1z 12

§x=24
Y Y= 6em
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City officials want to know the height of a traffic I|ght
Estimate the height of the traffic light. - 0~

15_h .
7% 4&75__7I

48.75 ft

7125 =731.25
h=2483 %4

The inside triangle is similar in shape to the outside triangle.
Find the height of the outside triangle.
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Find the unknown length in each pair of
similar figures
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Find the unknown length in each pair of
similar figures.
3. The width of the smaller rectangular cake

is 5.75 in. The width of a larger rectangular
cake is 9.25 in. Estimate the length of the

larger rectangular cake.

10in.

SIS

Mar 18-10:49 AM



	Page 1
	Page 2

